Algebra 1
Assignment

ID: 1

Solve each equation. Remember to check for extraneous solutions.

1) NV15x+4 —5=2

3) -5+A/8-8n=3

5) —24 = —s\ﬁ
2

7) —N6x+1 =-63
9) 9=A/32n+4 -1

11) -6=-7+~Na-9
13) 5=ANx+4 -3
15) E+5=6

3

17) 9+A/1-33n=19
19) 9=4/10p-9

5

23) -9 +~/25m = —4

25) 8 =~/8v
27) 5=N4v+5

Name
Date
2) -6=—-10+V8—X
4) 20=4N16-v
6) 7=NVm-10
8) Vn-2=2
10) V8In=9

12) 1=-9+~N12n+4
14) \/25n =5

16) 1=A/4-m

18) N29 —2v =3

20) 2+N3x—-26 =4

22) —5N2x+35 =-25

24) 15 =5~
9

26) 12 =2 +~/32r +4
28) Ndx—4 =4

Period



Algebra 1
Assignment

ID: 1
Name

Date Period

Solve each equation. Remember to check for extraneous solutions.

1) NV15x+4 —5=2
{3}
3) -5+A/8-8n=3

7
17!

5) —24 = —s\ﬁ
2

{18}

7) -6x+ 1 =63
{8}

9) 9=/32n+4—1
{3}

11) -6=-7+1/a-9

{10}

13) 5=Nx+4 -3

{60}
k

15) A|=+5=6
3

{3}
17) 9+4/1-33n=19

-3
13!

19) 9=A/10p-9

19}

5

{125}

23) -9 +~/25m = —4
{1}

25) 8 =~/8v

{8}

27) 5=N4v+5

{5}

2) —6=-10+4/8 —x
{-8}

4) 20=416 v
{-9}

6) 7="/m— 10

{59

8) Vn—2=2
{6}
10) V/8In =9
{1
12) 1=-9+~N12n+4
{8}
14) \J25n =5
{1}
16) 1=A4—m

{3}

18) N29-2v =3
{10}

20) 2+N3x—-26 =4
{10}

22) —5N2x+35 =-25

{5}

24) 15 = 5|~
9

{81}

26) 12 =2 +~/32r +4
{3}

28) \dx—4 =4
{5}



Algebra 1
Assignment

Name

ID: 2

Date Period

Solve each equation. Remember to check for extraneous solutions.

1) -36 =—4\x—-9

3) 24=-3\13v -1

5) 6=A4-7n+1
7) -3=-5+N10-p

11) Nk+6 —4=3

13) 4=A/x+8

15) 8 =/4x +4
17) 2+N8x+1 =9
19) \2p—-4+8=12
21) 444/-5-5n=9
23) 18=24/n—7

25) 3=-5+~38v

27) 7=Th|—
10

n
2) 56 =284/
4

4) 5\2n + 54 =30

6) 8V16x+1 =72
8) 2=4/3x+39 — 1

10) Vb+9 =8

12) -3 +~N80x+1 =6

14) 4[> =3
9
16) 9=/9—or
18) —\3m—8 =4

20) 2=-10+~4v
22) -1=N3x-2 -5
24) 0=-5\3x—-24
26) 7+~N15n+10=17
28) 0=~/x—4 -1



Algebra 1
Assignment

Name

ID: 2

Date Period

Solve each equation. Remember to check for extraneous solutions.

1) -36 =—4\x—-9

{90}

3) 24=-3\13v -1
{5}

5) 6=A4-7n+1
{3}

7) -3=-5+~10-p
{6}
\'

9) A|— =1

s
{8}

11) Vk+6 —4=3
{43}
13) 4=A/x+8

{8}

15) 8 =A/4x +4
{4}

17) 2+N8x+1 =9
{6}

19) N2p-4 +8=12
{10}

21) 4+N-5-5n=9
{6}

23) 18=20/n—7
{88}

25) 3=-5+~8v
{8}

27) 7=Th|—
10

{110}

n
2) 56 =284/
4

{196}

4) 5N2n+54 =30
{-9}

6) 8V16x+1 =72
{5}

8) 2=A/3x+39 — 1
{~10}

10) Vb+9 =8
{55}

12) -3 +~N80x+1 =6
{1}

14) A|= =3

X

9

{815

16) 9=N9-9r
-8}

18) -4N3m-8 =4
{3}

20) 2=-10++~4v
(16}

22) -1=~N3x-2 -5
{6}

24) 0=-5V3x-24
{8}

26) 7+~N15n+10=17
{6}

28) 0=Nx—-4 -1

{5}



Algebra 1
Assignment

ID: 3

Solve each equation. Remember to check for extraneous solutions.

1) N20a+4 +10=18

3) 7=~/1- 48k

5) 10V 2k +47 = 70
7) 1:—2+\/%

9) —4:—5+\/E
11) #/2n =38

13) 8=A/m+7
15) \/x+7 +3=8

17) N40p+1-9=0

19) N1lp+5=7

21) -6=~1-a -8

23) 4N/-5—21n =40

25) Nx—3 +10=18

k
27) A= +4=12
2

Name
Date
2) 3=~/3x
4) 18=9V-5-n

6) —36=—6\k—8
8) V-5n=0
10) \b-7=1
12) N2k + 11 —4=1

14) 8=Nb-5+3

7

18) 18 =3\ —4 — 5x
20) 4=~Nv-5

k
22) A|— +6=16
10

24) 4=~/8x

26) —2\/12n =12

28) N—4—13n +5=15

Period



Algebra 1
Assignment

Name

ID: 3

Date

Solve each equation. Remember to check for extraneous solutions.

1) N20a+4 +10=18

{3}

3) 7=A/1-48k
{-1}

5) 10V 2k +47 =70
{1}

7) 1=-2+~/9
{1}

9) 4=-5+N9-n
{8}

11) 4V2n =8
{2}

13) 8="Vm+7

{573

15) Nx+7 +3=38

{18}

17) N40p+1-9=0
{2}

19) N1lp+5=7
{4}

21) -6=~1-a -8
{3}

23) 4-5-21n =40
(-5}

25) Nx—3 +10=18

{67}

k
27) A= +4=12
2

(128}

2) 3=4/3x
{3}

4) 18=97—5—n
{-9}

6) -36 = —6\k—8
{44}

8) V-5n=0
{0}

10) Vb-7=1
{3}

12) N2k + 11 —4=1
{7}

14) 8=/b—5 +3

{305

7

{0}
18) 18 =3\ —4 — 5x

-8}

20) 4=~Nv-5

{21}

k
22) A|— +6=16
10

£1000}

24) 4=~/8x

{2}

26) —2\/12n =12
{3}

28) N—4—13n +5=15

-8}

Period



ID: 4

Algebra 1 Name
Assignment Date Period
Solve each equation. Remember to check for extraneous solutions.
1) —28 =—4\3-23p X
2) 8=4|—
10
3)Nv+8-10=0
)NV 4) —9\ﬁ =90
5
5) 2=N-6-X Vv
6) 8 . 0

7) An-10=2
) 8) 641/~ =10
8
9) \p-10=6
) NP 10) 40 = 8| —
10
12) \250 = 5
11) 10=4+4/% )

13) \n-9=2 14) \3n—11 +8=12
15) 40 = 57/-8 — 8x 16) 36 = -V -1
17) —49 =—7\/—5—9p 18) 3=—-9+/6x+6
19) 8=—9+~/3b—5 20) V9 —9x =9

21) 14="7"-12-2m 22) 10\6x + 4 = 20
2) 4:\/% 24) 9 =~/9 — 12x

26) 5N3b -5 =20
25) 14:2\/2 )

27) 8 =A/b— 1 28) —36=-M¢/27a



Algebra 1
Assignment

Name

ID: 4

Date Period

Solve each equation. Remember to check for extraneous solutions.

1) —28 =—4A/3 - 23p
{-2}

3) Vv+8-10=0

192}

5) 2=N-6-X

{-10}

7) An—-10=2
{14}

9) \Vp-10=6
{46}

\"
11) 10=4+\/;

(288}

13) \In-9=2
{13}

15) 40 = 57/—8 — 8x
-9}

17) —49=-7"-5_9p
{-6}

19) -8=-9+~/3b—5
{2}

21) 14=77-12 - 2m

-8}

23) 4=4|—
10

(160}

25) 14 = 2\ﬁ
8

3921

27) 8=A/b -1

{65}

2) 8=4)|—
10

{40

r
4) —9\ﬁ =90
5

£500}

6) 8\/g=0

{0}

8) 6+\ﬁ:10
8

(128}

10) 40 = 8| —
10

{250}
12) AJ25b =5
{1}

14) N3n—-11+8=12
{9}

16) -36 =-9N\v -1
{17}

18) -3=-9+N6X+6
{5}

20) NV9-9x =9
{8}

22) 10N 6x +4 =20
{0}

24) 9=1/9 — 12x
{-6}

26) 5\/3b -5 =20
{7}

28) —36 =—-4\27a
3}



Algebra 1
Assignment

ID: 5

Solve each equation. Remember to check for extraneous solutions.

1) N-7-8x =7
3) -8Vm-2=-16
5) 2=A2m+81 -7

7) 2=A/-19-2a + 1

9) -Nn+1=-9
11) 28 =4A/5x — 1
13) 10="-3-14n + 1

15) 9=6+v+6
17) 10=~/1 - 99x
19) 17=9+/65n— 1
21) 1+/4—8m=7
23) —S\/—11—2x =5
25) A/50x -1 =7

27) N—-12-2x +10=12

Name
Date Period
2) 20=-4Nn+5

4) 10V3x—24 =0

6) —21 =—7\v—4

8) —4 44— =6
10
10) 13=6+~Nx+1

12) 21 =3A/5x— 1

X
9

16) 90 = 10\/9 — 8n
18) 4k +8 =12

20) /-8 —9x =8
22) V9 —3x =6

24) 12=-2-2p + 10
26) \Ja—2 =5

28) 28 =4\/-5—6n



Algebra 1
Assignment

ID: 5

Solve each equation. Remember to check for extraneous solutions.

1) N-7-8x =7
{=7}

3) -8Vm-2=-16
{6}

5) 2=A2m+81 -7
{0}

7) 2=N-19-2a +1
{-10}

9) -Nn+1=-9

{0}

11) 28 =4\/5x — 1
{10}

13) 10=A/-3 - 14n + 1
{6}

15) 9=6+NV+6

3}

17) 10=~/1 - 99x

1
11!

19) 17=9+/65n—1
{1}

21) 1+N4-8m=7
{—4}

23) —5\-11-2x =5
{6}

25) \50x -1 =7
{1}

27) N-12-2x +10=12
{8}

Name
Date
2) 20=-4Nn+5

{20}

4) 10V3x—24 =0
{8}

6) —21=-7Vv—4
{13}

8) —4 44— =6
10

{1000}

10) 13=6+~Nx+1
{48}

12) 21=3\5x -1
{10}

X
9

(441}
16) 90 = 10\/9 — 8n
{-9}
18) 4k +8 =12
{1}
20) /-8 —9x =8
{-8}
22) V9 —3x =6
{-9}
24) 12=-2-2p + 10
{-3}
26) \a-2=5
{27}
28) 28 =4\/-5—6n
{-9}

Period



Algebra 1

Assignment

Name

ID: 6

Date Period

Solve each equation. Remember to check for extraneous solutions.

m

3) S\N17b-2 =35
5) 12=5+Np-1
7) Nk+6 =7

9) Vn-3=8

11) 5=A/9x - 1

13) 5=2+1/3x

15) 9 +A/8m+ 1 = 14
17) \N3p+9=18
19) 1=n/a+8

21) A/m+5 =10

23) 0=A/3p+9
25) 4 =206 - x

27) —2\ﬁ -0
3

2) N2m+ 16 =2

4) 40=10Nx -8
6) V1Ix+1+5=15

8) -2k +9 =20

_. P
072

12) 9+4/2n+21 =10
14) 19=10+/x+2
16) 1=A/-5-5n -4
18) 13=~/1- 10a + 4

20) \'16p =4

22) 10=\E
2

24) \lv+10 =8
26) 2 =A/—-16 — 2x
28) N-3-n=1



Algebra 1

Assignment

Name

ID: 6

Date

Solve each equation. Remember to check for extraneous solutions.

m

{3}

3) N17b-2=35
{3}

5) 12=5+\p-1
{50}

) Nk+6 =7
{43}

9) Vn-3=8
{67}

11) 5=A/9x - 1
{4}

13) 5=2+4/3x
{3}

15) 9+N8m+1 =14
{3}

17) \N3p+9=18
{27}

19) 1="/a+8
{=7}

21) A/m+5 =10

195}

23) 0=A/3p+9

-3
13!

25) 4 =206 - x

{2}

27) —2\ﬁ =0
3

{0}

2) N2m+16 =2
{6}

4) 40=10Nx -8
{24}

6) V1Ix+1+5=15
{9}

8) -2k +9 =20
{91}

_. P
072

(245}

12) 9+A/2n+21 =10
{-10}

14) 19=10+/x+2
{79}

16) 1=A/-5-5n—4
{6}

18) 13="/1-10a +4
{8}

20) \'16p =4
{1}

22) 10=\E
2

{200}

24) \lv+10 =8
{54}

26) 2 =A/-16 — 2x
{-10}

28) N-3-n=1

(4}

Period



Algebra 1
Assignment

Name

ID: 7

Date

Solve each equation. Remember to check for extraneous solutions.

1) NV13k-3 -2=5

3) NV49x =7
5 NVx+3 =6
7) —-10V12—a =-20

9) —4=A/25b -9

11) -7 +Nn-3=-5

[k
13) =944~ =-9
4

15) 4=1+~r-10
17) 0=-5\-1-p
19) 3\/50n =30

21) ANx+1 =32

23) 5=3+~N3x+13
25) 10=A/101k — 1
27) 6=A17n+2

2) 0=4N2r+12
4) 1=N2r+16 -1

6) V1-3a=>5

8) 17 :\/z+7
8
10) —42:—6\/5
6

12) 4 +A/-1-17k =8

14) 11=1+~Nx+10

16) \'b-3 =9

18) -4=-7+~N2r+11

20) —1=~/-1-50b — 8

22) 11=8+~N1—4x
24) 9=Nx-10
26) -1 +Na+10=8

28) —3=A/6n-6-9

Period



Algebra 1
Assignment

Name

ID: 7

Date

Solve each equation. Remember to check for extraneous solutions.

1) V13k-3 -2=5
{4}

3) NV49x =7
{1}

5 NVx+3 =6
{33}

7) —-10V12—a =-20

{8}

9) —4=~/25b-9
{1}

11) -7 +Nn-3=-5

{73

k
13) =944~ =-9
4

{0}

15) 4=1+~Nr-10
{19}

17) 0=-5N-1-p
{1}

19) 3/50n =30
{2}

21) ANx+1 =32
{63}

23) 5=3+~N3x+13
{-3}

25) 10=~101k -1
{1}

27) 6 =~N17n+2

2}

2) 0=4N2r+12
{-6}

4) 1=N2r+16 -1
{6}

6) V1-3a=>5
{8}

8) 17:\/g+7
8

{800}

10) —42 = —6\/5
6

{294}

12) 4+ -1-17k =8
{1}

14) 11=1+~Nx+10

{90}

16) \'b-3 =9

{84}

18) -4=-7+~N2r+11

=1}

20) —1=~/-1-50b — 8

=13

22) 11=8+~N1—4x
{2}

24) 9=Nx-10
{91}

26) -1 +Na+10=8
{71}

28) -3=N6n-6-9
{7}

Period



Algebra 1
Assignment

Name

ID: 8

Date Period

Solve each equation. Remember to check for extraneous solutions.

1) -4=-10+~4—4n

3) —4=\ﬁ—10
7

5) —90 = -9\ 49x + 2
7)Np-10=4

9) Wb-6=16

11) Nv+5=7

13) -18 = —6\/5
5

15) 7+A/3a—-2 =8

k
17) A|= =8
) 7

199 Nn-9+3=13
21) 2=Nx+4
23) N20-m +5=9

25) N'82x -1 +7=16
27) 3=Ak-9

2) 4+A/3x-21 =7

4) 17=N4p +9

6) N7n—6=6

8) —6=1|— 8
10

10) 4+4/n-10=38

12) /250 +4=9

14) —6\28b -3 = —54
16) -9 + \/E =1

5
18) -7V2a—19 =7

20) 8 =~/2n+ 80
22) —4=-9+/26b - 1

\Y
24) 1:\E

26) V8x+1 —-4=5

28) 0=-2+N2n+6



Algebra 1
Assignment

Name

ID: 8

Date

Solve each equation. Remember to check for extraneous solutions.

1) -4=-10+~4—4n

-8}

3) —4=\ﬁ—10
7

(2521
5) —90 = —9\/49x + 2

{2}
7)Np-10=4

{26}

9) WNb-6=16
{22}

11) Nv+5=7
{44}

13) —-18 = —6\/5
5

{45}
15) 7+A/3a—-2 =8
{1}

k
17) A|= =8
) 7

(448}
19) Vn-9+3=13
{109}
21) 2=A/x+4
{0}
23) N20-m +5=9

14}

25) N'82x -1 +7=16
{1}
27) 3=Ak-9

{18}

2) 4+A/3x-21 =7
{10}

4) 17=~4p +9

{16}

6) N7n—6=6
{6}

8) —6=1|— 8
10

{40

10) 4+4/n-10=38
{26}

12) /250 +4=9
{1}

14) —67\28b — 3 = —54
{3}

16) —9+\/E=1
5

£500}

18) -7W2a-19=-7
{10}

20) 8 =A/2n + 80
{-8}

22) —4=-9 +1/26b - 1

{5

\Y
24) 1:\E

{5}

26) N8x+1 —-4=5
{10}

28) 0=-2+N2n+6

=13

Period



Algebra 1
Assignment

Name

ID: 9

Date Period

Solve each equation. Remember to check for extraneous solutions.

Vv
1) -16= —4\ﬁ
2

3) 13=A/3x+6 +7

5) =70 =—7\v+2
7) —2=~5-5m -7
9) V-8 — 8x =8
11) V10n-9=9
13) \-1-50p =7
15) 5=A/2x-3 -8
17) 6= -8 +~/1 - 3x

19) N2In+1=38
21) 3W2-x =6

23) 0=-9+~1-28n
25) N3 —11b =5

27) —3=N24-n-7

n
2) ‘5:“/5‘5
b
D371,

6) VIov—-1=7
8) 1=Nx+10

10) 6N —1 — 10x =42
12) -3=2-x -6
14) 12=~/49n +5

16) 2=~/18k — 4

18) —20=-20/n—-7

20) —9+\/g=—2
5

22) AlY 4+2=3
5

24) 8 =A/-2-22n
26) VX+9 +5=13
28) \ax +1=3



Algebra 1
Assignment

Name

ID: 9

Date

Solve each equation. Remember to check for extraneous solutions.

Vv
1) -16= —4\ﬁ
2

32§

3) 13=A/3x+6 +7

{110}

5) =70 =—7\v+2
{98}

7 2=A/5-5m—7
{—4}

9) \/-8—8x =8
{-9}

11) V100 -9 =9
{9}

13) V-1 -50p =7
{-1}

15) =5 =~/2x-3 -8
{6}

17) -6 = -8 +~/1 = 3x
{-1}

19) A21n+1 =8
{3}

21) 3W2-x =6
{-2}

23) 0=-9+~1-28n

{—10}

25) N3 -11b =5
{-2}

27) 3=~N24-n-7
{8}

n
2) —5:\/;—5

{0}
b

9 5=\
{250}

6) VIov—-1=7
{5}

8) 1=Nx+10
{9}

10) 6N -1 —10x =42
{=5}

12) -3=N2-x-6
{7}

14) 12=~N49n +5
{1}

16) 2=~18k — 4
{2}

18) -20=-2"/n-7

107}

20) —9+\/g=—2
5

1245}
22) AL +2=3
5

{5}

24) 8 =4/-2—22n

(=3}

26) VX+9 +5=13

{55}

28) \ax +1=3
{1}

Period



Algebra 1
Assignment

Name

ID: 10

Date Period

Solve each equation. Remember to check for extraneous solutions.

1) 27=-N6-r1
3) 11=5+Nx-5

5 17=10+~N9%a+4

7) N4x =2

X
9) 3\/;:9

11) \/5-b =0

13) 50=5\x+1
15) \/4b +3=7

17) 10="/n+2

19) -3W—2-2x =6
21) -6 +7/4—8r=0

23) -3V 10k + 1 =27

25) 10=3+~N8n+1
27) 1=~N3n+7

2) 15=Np+8+5
HANr-8=1

6) V14 -k =2

b

10) —6+~26p—1=-1

12) \26r—4 =10
14) 4=~/7-3x -1
16) \19-2p +3=6
18) 3+b+8=1
20) —2A/—1 - 17x = -8

22) 4N20-2x =0

2

26) N3k—17 —6=-5

28) —3=N3x+25-4



Algebra 1
Assignment

Name

1D: 10

Date Period

Solve each equation. Remember to check for extraneous solutions.

1) 27=-9N6-7r
{-3}

3) 11=5+x-5
{41}

5 17=10+N9%a+4
{5}

7) N4x =2
{1}

X
9) 3\/;:9

275

11) N5-b=0

{5}

13) 50 = 5\/x + 1

{199}

15) \/ab +3=7

14}

17) 10=A/n+2

198}

19) -3W/-2-2x =6

{3}

21) =6+N4—-8r=0
{—4}

23) =3\ 10k + 1 = -27

{8}

25) 10=3+~N8n+1

{6}

27) 1=~N3n+7

(-2}

2) 15=Ap+8+5
{92}

Hr-8=1
{9}

6) V14—k =2
{10}

b
(324}
10) —6+~26p—1=-1
{1}

12) \26r—4 =10
{4}

14) 4=~/7-3x -1
{-6}

16) V19— 2p +3=6
{5}

18) 3+b+8=1

{8}

20) —27/—1 - 17x = -8
{=1}

22) 4N20-2x =0
{10}

24) —7\E=—56
(128}

26) N3k—17 —6=-5
{6}

28) —3=N3x+25-4
{8}



